STHOEEAHBEREFICRITIHERIBETERADYSEH)FEE
SH6E4R 18HS
[IRA] SH7ESASIAET
# B R6F &% R5F &% =518 AER
@400,000 X 03% A =0, @300,000 x 2;% A =600,000
@200,000 x 3;% A=600,000, @100,000 x 3;% A=300,000
AEERA 2,020,000 2,480,000 A 460,000 @50,000 x 6% A=300,000, @10,000 x 8% A=80,000
@5,000 x 23;% A=115,000, $7#7 @5,000 X 5;% A=25,000
FHEUIRA 50,000 50,000 oA 50,000
MUA 20,000 50,000 A 30,000 |ZIBBEE RN 20,000
N 2,090,000/ 2,580,000f A 490,000
%&géﬂ%%lk 4,039,000( 4,318,000 A 279,000 | FEE~FK LTS -OBALTELENER
IRA &R 6,129,000/ 6,898,000f A 769,000
[XH]
& B R6F &% R5F &% =538 MER
E%%é%éé%&#ﬁ @6,000 X 1A x 3[@]= 18,000
. B RSB @20,000 x 1 A x 3[@]= 60,000
R 148,000 148,000 O 3o B ks — g2 @50000X TAX1E= 50,000
g ikt -RRREESHE @10,000 X 2\ X 1[@= 20,000
BEEEEREERE @20,000 x 3[E]= 60,000
TtEEESZERE @15,000 x 3[E]= 45,000
FEERE 191,000 380,000 A 189,000 (1834 8 ER R HEMRE @3,000 x 1A x 2[E]= 6,000
ik Bkt T Bk E (R5) @70,000 X 1 A X 1[@= 70,000
i Tk -ER RS E RE (BRN) @5,000 x 2 A X 1[E= 10,000
EEBERE 0 0 0
iz O HHKEERETFRNEAE @1,300 X 50ff= 65,000
EHHEHERE 101,000 36,000 65,000 5%%%5‘:.}% 36,000
| HERERR @3.5 x 10,0004%= 35,000
= FRI A £ 181,000 254,000 A 73,000 LI EHHENIZHBNIEBE  @33,000x4[E x1.1= 145,200
*
B |BEERE 165,000 165,000 O|EEEMR -0t H
siE 9,000 7,000 2,000|&BEHER
LERE 0 0 0
RigF 434,000 385,000 49,000 fig%?‘fﬂm 2284 @17x 2438 x 105 A= 433,755
FHH 10,000 10,000 O|ZBEXESIRAFHH
AR F%‘ tEZERSEERAM @10,000% 3[E= 30,000
HMEU BB EReRIGEAN @20,000 X 3[E= 60,000
B 150,000f 218,000 A 68,000y = 1r2 5 — 245 s 10,000
AREFAN (BHREERSSE) @25 x 200km x 10[E]= 50,000
B BENIIERE Bk 20,000F9 x 60{4= 1,200,000
XIEEXE 2,650,000 2,715,000 A 65,000\ =& ERREE 350,000 x 2f= 700,000
VELYRIEEXRE 2,500/ x 300H= 750,000
X H/ET 4,039,000/ 4,318,000f A 279,000
Z e
Ak 2,000,000 2580,000] A 490000[sEE%HELRIHE
XHER 6,129,000( 6,898,000f A 769,000
[ZALKBYEEHER]
DRI ER QML QN Hi%E @R6AFRER (RRA) (D+2-Q)
3,278,285 2,090,000 4,039,000 1,329,285




